Clair de Lune

Rocking Stand

Assembly Insfructions

=

1

Component Parts

Base Rockers x2 60mm Screws x8

Upright Pillars x4

‘-7“"1_ =

Cross Dowels x4

S——— 40mm Screws x8

12mm Screws x8

Flexible End Straps x2

Top Rails x2




Assembly Instructions
Stage 1.

e Locate the dowels on the 4 upright pillars into the holes on the top of the 2 base
rockers ensuring the “feet” of the upright pillars are facing outwards.

- (To check correct positioning place the rockers on a flat surface with the carving
facing upwards. The “feet” of the uprights should face outwards).

o Using 8 x 60 mm screws fasten the upright pillars to the rockers through the holes in
the base of the rockers.

MAKE SURE THE SCREW ARE FIRMLY LOCATED TO THE BOTTOM OF THE GUIDE HOLES
IN THE ROCKERS.

Stage 2.

o Locate the 4 cross dowels into the recesses on the inside of the uprights and
secure with 8 x 40mm screws.

MAKE SURE THE SCREWS LINE UP ACCURATELY WITH THE END OF THE DOWELS AND
ARE SCREWED FULLY HOME.



Stage 3.

e Locate the dowels in the 2 top rails into the location holes at the top of the
uprights. Ensure the screw holes face inwards.

- Secure the top rails using the 4 x 50 mm screws.

IT MAY BE NECESSARY TO CAREFULLY EASE APART THE UPRIGHT PILLARS SLIGHTLY
TO LOCATE THE DOWELS CORRECITLY.

Stage 4.

e Align the holes in the flexible end straps with the pre drilled fittings on the inside
of the uprights and top rails and secure with the 8 x 12 mm screws.

NB. IT IS VERY IMPORTANT TO MAKE SURE THE COT OR CRIB IS HELD
SECURELY BY THE END STRAPS. USE THE HOLES ON THE END STRAPS TO
PROVIDE ANY ADJUSTMENT.

CHECK CAREFULLY THAT THE COT OR CRIB IS SECURE IN THE ROCKING
STAND BEFORE USE.



	Page 1
	Page 2
	Page 3

